

MAGNOLID REZIDENCE 8

Sunny beach

Ap.No	Floor	Type	Buiit-up Drea sq.m.	Sared area sq.m.	terrace	Total area sq.m.	Prise per sq.m.	Prise	Status
								€	
Cm.1	1	studio	28.63	5.79	4.06	38.48	1,743.00 €	67,068.00 €	
Cm.2	1	studio	28.63	5.79	3.92	38.34	1,649.00 €	63,220.00 €	
Cm.3	1	studio	28.63	5.79	3.92	38.34	1,649.00 €	63,220.00 €	
Cm.4	1	studio	28.63	5.79	3.92	38.34	1,649.00 €	63,220.00 €	
Cm.5	1	studio	28.63	5.79	4.06	38.48	1,649.00 €	63,220.00 €	
Cm.6	1	studio	28.63	5.79	3.92	38.34	1,649.00 €	63,220.00 €	
Cm.7	1	studio	28.94	5.85	3.92	38.71	1,642.00 €	63,565.00 €	
Ap.8	1	<u>1 bedroom</u>	48.28	9.76	3.67	61.71	1,600.00 €	98,736.00 €	
Ap.9	1	<u>1 bedroom</u>	46.03	9.31	4.74	60.08	1,600.00 €	96,128.00 €	
Ap.10	1	<u>1 bedroom</u>	46.03	9.31	4.74	60.08	1,600.00 €	96,128.00 €	
Cm.11	1	studio	28.37	5.74	4.06	38.17	1,650.00 €	62,980.50 €	
Cm.12	1	studio	28.40	5.74	4.06	38.20	1,650.00 €	63,030.00 €	
Cm.13	1	studio	28.37	5.74	4.06	38.17	1,650.00 €	62,980.50 €	
Cm.14	1	studio	28.37	5.74	4.06	38.17	1,650.00 €	62,980.50 €	
Ap.15	1	<u>1 bedroom</u>	46.03	9.31	4.74	60.08	1,700.00 €	102,136.00 €	
Ap.16	1	<u>1 bedroom</u>	46.32	9.37	4.21	59.90	1,700.00 €	101,830.00 €	
Cm.17	2	studio	32.69	6.61		39.30	1,550.00 €	60,915.00 €	
Cm.18	2	studio	32.49	6.57		39.06	1,550.00 €	60,543.00 €	
Cm.19	2	studio	32.62	6.60		39.22	1,550.00 €	60,791.00 €	
Cm.20	2	studio	32.62	6.60		39.22	1,550.00 €	60,791.00 €	
Cm.21	2	studio	32.49	6.57		39.06	1,550.00 €	60,543.00 €	
Cm.22	2	studio	32.69	6.61		39.30	1,550.00 €	60,915.00 €	
Cm.23	2	studio	32.99	6.67		39.66	1,550.00 €	61,473.00 €	
Ap.24	2	<u>1 bedroom</u>	51.97	10.51		62.48	1,650.00 €	103,092.00 €	
Ap.25	2	<u>1 bedroom</u>	50.77	10.27		61.04	1,650.00 €	100,716.00 €	
Ap.26	2	<u>1 bedroom</u>	50.77	10.27		61.04	1,650.00 €	100,716.00 €	
Cm.27	2	studio	32.72	6.62		39.34	1,650.00 €	64,911.00 €	
Cm.28	2	studio	32.72	6.62		39.34	1,650.00 €	64,911.00 €	
Cm.29	2	studio	41.84	8.46		50.30	1,650.00 €	82,995.00 €	
Cm.30	2	studio	32.72	6.62		39.34	1,650.00 €	64,911.00 €	
Cm.31	2	studio	32.72	6.62		39.34	1,650.00 €	64,911.00 €	
Ap.32	2	<u>1 bedroom</u>	50.82	10.28		61.10	1,700.00 €	103,870.00 €	
Ap.33	2	<u>1 bedroom</u>	50.55	10.22		60.77	1,700.00 €	103,309.00 €	
Cm.34	3	studio	32.69	6.61		39.30	1,600.00 €	62,880.00 €	
Cm.35	3	studio	32.49	6.57		39.06	1,600.00 €	62,496.00 €	
Cm.36	3	studio	32.62	6.60		39.22	1,600.00 €	62,752.00 €	
Cm.37	3	studio	32.62	6.60		39.22	1,600.00 €	62,752.00 €	
Cm.38	3	studio	32.49	6.57		39.06	1,600.00 €	62,496.00 €	
Cm.39	3	studio	32.69	6.61		39.30	1,600.00 €	62,880.00 €	
Cm.40	3	studio	32.99	6.67		39.66	1,600.00 €	63,456.00 €	
Ap.41	3	<u>1 bedroom</u>	51.97	10.51		62.48	1,700.00 €	106,216.00 €	
Ap.42	3	<u>1 bedroom</u>	50.77	10.27		61.04	1,750.00 €	106,820.00 €	
Ap.43	3	<u>1 bedroom</u>	50.77	10.27		61.04	1,750.00 €	106,820.00 €	

Cm.44	3	studio	32.72	6.62		39.34	1,700.00 €	66,878.00 €	
Cm.45	3	studio	32.72	6.62		39.34	1,700.00 €	66,878.00 €	
Cm.46	3	studio	41.84	8.46		50.30	1,700.00 €	85,510.00 €	
Cm.47	3	studio	32.72	6.62		39.34	1,700.00 €	66,878.00 €	
Cm.48	3	studio	32.72	6.62		39.34	1,700.00 €	66,878.00 €	
Ап.49	3	<u>1 bedroom</u>	50.82	10.28		61.10	1,750.00 €	106,925.00 €	
Ап.50	3	<u>1 bedroom</u>	50.55	10.22		60.77	1,750.00 €	106,347.50 €	
Cm.51	4	studio	32.69	6.61		39.30	1,750.00 €	68,775.00 €	
Cm.52	4	studio	32.49	6.57		39.06	1,750.00 €	68,355.00 €	
Cm.53	4	studio	32.62	6.60		39.22	1,750.00 €	68,635.00 €	
Cm.54	4	studio	32.62	6.60		39.22	1,750.00 €	68,635.00 €	
Cm.55	4	studio	32.49	6.57		39.06	1,750.00 €	68,355.00 €	
Cm.56	4	studio	32.69	6.61		39.30	1,750.00 €	68,775.00 €	
Cm.57	4	studio	32.99	6.67		39.66	1,750.00 €	69,405.00 €	
Ап.58	4	<u>1 bedroom</u>	51.97	10.51		62.48	1,850.00 €	115,588.00 €	
Ап.59	4	<u>1 bedroom</u>	50.77	10.27		61.04	1,850.00 €	112,924.00 €	
Ап.60	4	<u>1 bedroom</u>	50.77	10.27		61.04	1,850.00 €	112,924.00 €	
Cm.61	4	studio	32.72	6.62		39.34	1,750.00 €	68,845.00 €	
Cm.62	4	studio	32.72	6.62		39.34	1,750.00 €	68,845.00 €	
Cm.63	4	studio	41.84	8.46		50.30	1,750.00 €	88,025.00 €	
Cm.64	4	studio	32.72	6.62		39.34	1,750.00 €	68,845.00 €	
Cm.65	4	studio	32.72	6.62		39.34	1,750.00 €	68,845.00 €	
Ап.66	4	<u>1 bedroom</u>	50.82	10.28		61.10	1,800.00 €	109,980.00 €	
Ап.67	4	<u>1 bedroom</u>	50.55	10.22		60.77	1,800.00 €	109,386.00 €	
Cm.68	5	studio	32.69	6.61		39.30	1,800.00 €	70,740.00 €	
Cm.69	5	studio	32.49	6.57		39.06	1,800.00 €	70,308.00 €	
Cm.70	5	studio	32.62	6.60		39.22	1,800.00 €	70,596.00 €	
Cm.71	5	studio	32.62	6.60		39.22	1,800.00 €	70,596.00 €	
Cm.72	5	studio	32.49	6.57		39.06	1,800.00 €	70,308.00 €	
Cm.73	5	studio	32.69	6.61		39.30	1,800.00 €	70,740.00 €	
Cm.74	5	studio	32.99	6.67		39.66	1,800.00 €	71,388.00 €	
Ап.75	5	<u>1 bedroom</u>	51.97	10.51		62.48	1,850.00 €	115,588.00 €	
Ап.76	5	<u>1 bedroom</u>	50.77	10.27		61.04	1,850.00 €	112,924.00 €	
Ап.77	5	<u>1 bedroom</u>	50.77	10.27		61.04	1,850.00 €	112,924.00 €	
Cm.78	5	studio	32.72	6.62		39.34	1,800.00 €	70,812.00 €	
Cm.79	5	studio	32.72	6.62		39.34	1,800.00 €	70,812.00 €	
Cm.80	5	studio	41.84	8.46		50.30	1,800.00 €	90,540.00 €	
Cm.81	5	studio	32.72	6.62		39.34	1,800.00 €	70,812.00 €	
Cm.82	5	studio	32.72	6.62		39.34	1,800.00 €	70,812.00 €	
Ап.83	5	<u>1 bedroom</u>	50.82	10.28		61.10	1,820.00 €	111,202.00 €	
Ап.84	5	<u>1 bedroom</u>	50.55	10.22		60.77	1,820.00 €	110,601.40 €	
Ап.85	6	<u>1 bedroom</u>	51.42	10.40	73m2	61.82	2,050.00 €	126,731.00 €	
Ап.86	6	<u>1 bedroom</u>	50.24	10.16	14m2	60.40	2,050.00 €	123,820.00 €	
Ап.87	6	<u>1 bedroom</u>	72.95	14.75	152m2	87.70	2,200.00 €	192,940.00 €	
Ап.88	6	<u>1 bedroom</u>	47.31	9.57	15m2	56.88	2,150.00 €	122,292.00 €	
Ап.89	6	<u>1 bedroom</u>	53.65	10.85	19m2	64.50	2,120.00 €	136,740.00 €	
Ап.90	6	<u>1 bedroom</u>	46.22	9.35	67m2	55.57	2,300.00 €	127,811.00 €	

MAGNOLID REZIDENCE 8
Sunny beach

№	Floor	Type	Built-up Drea	Sared area	Total area	Prise €	Status
PM 1	-1	parking	17.19	16.52	33.71	20,000.00 €	
PM 2	-1	parking	12.50	12.02	24.52	17,000.00 €	
PM 3	-1	parking	12.50	12.02	24.52	17,000.00 €	
PM 4	-1	parking	12.50	12.02	24.52	17,000.00 €	
PM 5	-1	parking	12.50	12.02	24.52	17,000.00 €	
PM 6	-1	parking	12.50	12.02	24.52	17,000.00 €	
PM 7	-1	parking	12.50	12.02	24.52	17,000.00 €	
PM 8	-1	parking	12.50	12.02	24.52	17,000.00 €	
PM 9	-1	parking	13.01	12.51	25.52	17,000.00 €	
PM 10	-1	parking	12.62	12.13	24.75	18,000.00 €	
PM 11	-1	parking	14.04	13.50	27.54	17,000.00 €	
PM 12	-1	parking	12.25	11.78	24.03	17,000.00 €	
PM 13	-1	parking	12.50	12.02	24.52	17,000.00 €	
PM 14	-1	parking	12.50	12.02	24.52	17,000.00 €	
PM 15	-1	parking	12.50	12.02	24.52	17,000.00 €	
PM 16	-1	parking	12.50	12.02	24.52	17,000.00 €	
PM 17	-1	parking	12.50	12.02	24.52	17,000.00 €	
PM 18	-1	parking	13.13	12.62	25.75	17,000.00 €	
PM 19	-1	parking	13.13	12.62	25.75	17,000.00 €	
PM 20	-1	parking	12.50	12.02	24.52	17,000.00 €	
PM 21	-1	parking	12.50	12.02	24.52	17,000.00 €	
PM 22	-1	parking	12.50	12.02	24.52	17,000.00 €	
PM 23	-1	parking	12.50	12.02	24.52	17,000.00 €	
PM 24	-1	parking	12.50	12.02	24.52	18,000.00 €	
PM 25	-1	parking	12.25	11.78	24.03	18,000.00 €	
PM 26	-1	parking	14.04	13.50	27.54	18,000.00 €	
№	Floor	Type	Built-up Drea	Sared area	Total area	Prise €	Status
PM 1	outdoor	parking	12.50			14,000.00 €	
PM 2	outdoor	parking	12.50			14,000.00 €	
PM 3	outdoor	parking	12.50			14,000.00 €	
PM 4	outdoor	parking	12.50			14,000.00 €	
PM 5	outdoor	parking	12.40			14,000.00 €	
PM 6	outdoor	parking	11.80			14,000.00 €	
PM 7	outdoor	parking	12.10			14,000.00 €	
PM 8	outdoor	parking	11.35			14,000.00 €	
PM 9	outdoor	parking	11.42			14,000.00 €	
PM 10	outdoor	parking	11.25			14,000.00 €	
PM 11	outdoor	parking	11.25			14,000.00 €	
PM 12	outdoor	parking	11.25			14,000.00 €	
PM 13	outdoor	parking	11.25			14,000.00 €	

ПМ 14	outdoor	parking	11.25			14,000.00 €	
ПМ 15	outdoor	parking	11.25			14,000.00 €	
ПМ 16	outdoor	parking	11.25			14,000.00 €	
ПМ 17	outdoor	parking	11.25			14,000.00 €	
ПМ 18	outdoor	parking	11.25			14,000.00 €	
ПМ 19	outdoor	parking	11.92			14,000.00 €	
ПМ 20	outdoor	parking	12.50			14,000.00 €	
ПМ 21	outdoor	parking	11.90			14,000.00 €	
ПМ 22	outdoor	parking	11.90			14,000.00 €	
ПМ 23	outdoor	parking	11.90			14,000.00 €	
ПМ 24	outdoor	parking	11.90			14,000.00 €	
ПМ 25	outdoor	parking	11.90			14,000.00 €	
ПМ 26	outdoor	parking	11.90			15,000.00 €	
ПМ 27	outdoor	parking	11.70			15,000.00 €	
ПМ 28	outdoor	parking	11.00			15,000.00 €	
ПМ 29	outdoor	parking	11.00			15,000.00 €	
ПМ 30	outdoor	parking	11.00			15,000.00 €	
ПМ 31	outdoor	parking	11.00			15,000.00 €	
ПМ 32	outdoor	parking	11.00			15,000.00 €	
ПМ 33	outdoor	parking	11.00			15,000.00 €	
ПМ 34	outdoor	parking	11.00			15,000.00 €	
ПМ 35	outdoor	parking	11.00			15,000.00 €	
ПМ 36	outdoor	parking	11.00			15,000.00 €	
ПМ 37	outdoor	parking	11.00			15,000.00 €	
ПМ 38	outdoor	parking	11.00			15,000.00 €	
ПМ 39	outdoor	parking	11.00			15,000.00 €	
ПМ 40	outdoor	parking	11.00			15,000.00 €	
ПМ 41	outdoor	parking	11.00			15,000.00 €	
ПМ 42	outdoor	parking	11.00			15,000.00 €	
ПМ 43	outdoor	parking	11.00			15,000.00 €	
ПМ 44	outdoor	parking	11.00			15,000.00 €	
ПМ 45	outdoor	parking	11.00			15,000.00 €	
ПМ 46	outdoor	parking	11.00			15,000.00 €	
ПМ 47	outdoor	parking	11.00			15,000.00 €	
ПМ 48	outdoor	parking	11.00			15,000.00 €	
ПМ 49	outdoor	parking	11.25			15,000.00 €	
ПМ 50	outdoor	parking	11.25			15,000.00 €	
ПМ 51	outdoor	parking	11.25			15,000.00 €	
ПМ 52	outdoor	parking	11.25			15,000.00 €	
ПМ 53	outdoor	parking	11.25			15,000.00 €	
ПМ 54	outdoor	parking	11.25			15,000.00 €	
ПМ 55	outdoor	parking	11.25			15,000.00 €	
ПМ 56	outdoor	parking	11.25			15,000.00 €	
ПМ 57	outdoor	parking	11.25			15,000.00 €	
ПМ 58	outdoor	parking	11.25			15,000.00 €	

MAGNOLID REZIDENCE 8

Sunny beach

Ap.№	Floor	Type	Built-up	Sared	Total	Prise €	Status
			Drea	area	area		
			sq.m.	sq.m.	sq.m.		
Г.1	-1	Garage	33.83	5.26	39.09	22,000.00 €	
Г.2+скл.	-1	Garage+warehouse	49.82	7.75	57.57	25,000.00 €	
Г.3	-1	Garage	38.24	5.95	44.19	22,000.00 €	
Г.4+скл.	-1	Garage+warehouse	55.72	8.67	64.39	26,000.00 €	
Г.5	-1	Garage	33.83	5.26	39.09	22,000.00 €	
Г.6+скл.	-1	Garage+warehouse	42.70	6.64	49.34	25,000.00 €	
Скл.1	-1	warehouse	7.02	0.91	7.93	5,000.00 €	
Скл.2	-1	warehouse	6.82	0.88	7.70	5,000.00 €	
Скл.3	-1	warehouse	6.82	0.88	7.70	5,000.00 €	
Скл.4	-1	warehouse	6.82	0.88	7.70	5,000.00 €	
Скл.5	-1	warehouse	6.82	0.88	7.70	5,000.00 €	
Скл.6	-1	warehouse	6.82	0.88	7.70	5,000.00 €	
Скл.7	-1	warehouse	6.82	0.88	7.70	5,000.00 €	
Скл.8	-1	warehouse	7.41	0.96	8.37	5,000.00 €	
Скл.9	-1	warehouse	5.90	0.76	6.66	4,000.00 €	
Скл.10	-1	warehouse	6.00	0.78	6.78	4,000.00 €	
Скл.11	-1	warehouse	6.00	0.78	6.78	4,000.00 €	
Скл.12	-1	warehouse	5.16	0.67	5.83	4,000.00 €	
Скл.13	-1	warehouse	3.99	0.52	4.51	3,500.00 €	
Скл.14	-1	warehouse	8.35	1.08	9.43	5,500.00 €	
Скл.15	-1	warehouse	6.82	0.88	7.70	5,000.00 €	
Скл.16	-1	warehouse	6.82	0.88	7.70	5,000.00 €	
Скл.17	-1	warehouse	6.82	0.88	7.70	5,000.00 €	
Скл.18	-1	warehouse	6.82	0.88	7.70	5,000.00 €	
Скл.19	-1	warehouse	6.82	0.88	7.70	5,000.00 €	
Скл.20	-1	warehouse	6.82	0.88	7.70	5,000.00 €	
Скл.21	-1	warehouse	7.44	0.96	8.40	5,000.00 €	
Скл.22	-1	warehouse	6.82	0.88	7.70	5,000.00 €	
Скл.23	-1	warehouse	7.31	0.95	8.26	5,000.00 €	
Скл.24	-1	warehouse	5.50	0.71	6.21	4,000.00 €	
Скл.25	-1	warehouse	7.56	0.98	8.54	5,000.00 €	
Скл.26	-1	warehouse	7.60	0.98	8.58	5,000.00 €	
Скл.27	-1	warehouse	8.20	1.06	9.26	5,500.00 €	
Скл.28	-1	warehouse	6.27	0.81	7.08	4,000.00 €	
Скл.29	-1	warehouse	7.20	0.93	8.13	5,000.00 €	
Скл.30	-1	warehouse	7.20	0.93	8.13	5,000.00 €	
Скл.31		warehouse	7.20	0.93	8.13	5,000.00 €	